AP R RENFET 5 (RI5) B 5 B #

S7ETASH (kEER)
Fx ENSEfashE: 1732 b

(B ILHEREST)
BE ox e HIFE R (ko) 1 #Y3E Xt ERE |
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
13010072V A [y 9,075
130100|7 W A JtimE 8,640 8,340 10 1,728 648
13010072V A Fi 375 375 15 1,296 972
130340 ICA LA e 5,130
130340 ICA LA FiH 1,800 1,800 10 2,916 2,160
130340 ICA LA FLE 2,720 2,720 10 2,160 648
130400| 1% 5 iy 372
130400 1% 5 5 50 50 10 1,620
13040021 5 BHE 310 310 10 5,940
130600{1L A T A e 334
130600|1LA Z A ES 334 0 334 1 1,620 756
131100{B 3% T 15,750
1311003 R 15,750 0| 15,750 15 1,404 756
131700(%F v~ e 29,165
131700(%F v ~ BHE 17,800 17,800 15 1,296 1,247
131700(%F v~ RE 8,230 8,230 10 1,512 648
131700(%F v ~ & 3,135 2,400 10 810
131800(I1F 53 A E HE 116
131800(IF S MAE & 72 52 20| 0.2 270 22 135
131910|F & HE 1,021
131910|Fh & KR 28 28| 0.5 702 324
131910|F & fi] 1Ly 225 225 1 972 432
131910|Fh & iR 460 460 10 3,456
131950|H A & HE 4,380




131950(B & Ik 3,240 3,240 5 2,160 1,080
131950|H A & SER 810 705 3 1,620 972
133400(L % 2 et 14,838

133400(L % % R 14,830 0| 14,830 10 1,706 756
134100 |#8/1 et 12,437

134100|#A/1 JbEE 790 0 490 5 2,106 1,836
134100 |#8/1 i 275 0 275 5 1,782
134100|#A/1 BE 1,560 0 1,060 5 2,592 1,782
134100 |#8/1 & 807 0 635 10 2,592 2,052
134100 (&A1 hy= 150 0 150 5 1,404 972
134100 |#8/1 ) 2,655 0 2,265 5 2,268 864
134100|#A/1 T 5,440 0 5,220 5 2,160 972
134300 (%6 F et 5,529

134300|50F Ik 296 0 296 4 648 540
134300 (%6 7 =33 1,432 0 1,432 4 1,404
134300(#6F KR 80 0 80 4 1,296

134300 (%6 7 & 611 0 611 5 2,484 972
134300|50F hy= 1,337 0 1,337 5 2,592 1,188
134300 (%67 &) 230 0 230 0.5 194 108
134300|50F FiE 936 0 936| 0.4 162 97
134300 (%6 7 Ko 48 0 48] 0.4 194

134400| k= b+ e 13,134

134400| k< k & 11,352 0| 11,325/ 0.8 390

134400| k= k = 1,080 0 1,080 1,512 1,080
134400| k< k iR 320 0 320 1,728 1,404
134400| k= k REZR 360 0 360 1,674 1,566
134500| " — < > e 7,447

134500| &’ —~< >~ s 2,842 0 2,842| 0.15 76 65
134500| " — < > [SE il 63 0 63| 0.15 54

134500| &’ —~< >~ R 4,140 4,140| 0.15 97 65




134700(&> A2 L ¥ 3,574

134700158 A2 L EA 1,965 1,715 5 1,512 972
134700(&> A2 L BE 1,159 1,144 5 1,296 583
134700158 A2 L h¥= 200 200 5 1,620 1,296
135100 WA F A ¥ 96

135100| W A LT A JuiBE 20 20 2 5,940 4,320
135100 WA F A K% 60 30 2 3,996 3,240
135500( 2722 ¥ 315

135500|2 722 Iz & 123 123 0.2 97 86
135500( 2722 KER 80 80 0.2 119

135500|2 722 w5 40 40 0.2 119
136100(AA L & ¥ 8,235

1361001 A L & T 7,080 7,080 5 1,944 756
136100(AA L & BE 1,155 925 5 2,808 864
136200|%inE ¥ 1,700

136200(F % 5B 1,200 1,200 10 1,890

136200| &5 R 500 500 10 670

136210( X —7 1 ~ ¥ 5,330

136210| X —27 4 >~ Rl 5,330 5,330 10 1,080 540
136300|2%F ToE 230

136300| 2% R 80 70 2 1,296 540
136600|7z & ¥ 33,795

136600|7-xa & BE 31,775 31,555 20 2,700 2,484
138100(& L W /o lF ¥ 659

138100|& L Wiz lF fig Ly 145 145] 0.08 73
138100(& L W /o lF BE 409 355 0.1 178 65
138100|& L Wiz lF EiE 34 34 0.24 281
138500(L® LE ¥ 574

138500| L& LE K% 574 524 0.2 81 65




mAEMm R REFEHS (KRS BEBHR
SH7ETASH (kmR)

LSS ENSEfashE: 168 b

(B ILHEREST)
28 os e MR (k) % #YFE RS E]
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
240110|/N7 XA DA Eoe= 296
240110|/NT XA DA ML 184 0 169 4 7,020 6,264
240110|/NT7 XA DA B 112 0 112 0.35 454
242320(>a+a—IL K | 990
242320 a+ - K B 990 0 600 10 4,968
242830|.5 LW AT bioese 1,060
2428303 LW AT B 1,060 0 710 10 6,048 5,400
244200|F4%H 6 boese 785
244200|H4%EDH I 581 0 581 5 5,400 4,320
244200\ 4% H 6 AL 204 0 172 4 5,400
24453019 H % Eoe= 939
244530(9H % e 83 0 83 0.5 454 410
24453019 H % RE 720 0 716 0.4 432 346
244530(9H % AL 88 0 88 0.5 464 432
24453019 H % & 48 0 48 0.4 540 486
245220( 777 =T bioese 502
245220177 =7 AN 460 0 460 0.3 432 356
245230|BEI£.30E S HE 402
245230|ElERE S L3 4 0 0 0.4
245230|BEEE S & 398 0 338 1.4 3,240 2,678
245240|EF — 2 RS [#EEKR 145
2452401 EF — %28 E D i 1Ly 87 0 87 2 4,860 2,160
245240(EF — 2 S & 58 0 47 5 10,260
247100 7 —L 2 X O |#% 553




247100|7 —/Lx A B> | E#E 378 329 14,040 9,180
247100| 77— X A B> | BH 176 176 8 5,724 4,860
207420\ 7 v TR AR Y |HIKR 1,050
207420\ 7 v T A 4 AY | WL 1,050 765 5 3,024 1,080
247568|%AH I XA T3 5,310
247568| %K I XA v B/ 5,310 2,225 5 2,592 756
24830078 /1 T3 4,800
24830078 /1 g 4,800 4,800 16 6,480 2,916




